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Hidden in the puzzle are all the words listed above. See how many of them you
can find and circle. You can learn more about this topic when you read the article
Solving a Genetic Mystery on the Ask A Biologist website.
(http://askabiologist.asu.edu/explore/solving-genetic-mystery)
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ALLELES HOMOZYGOUS
ANTHER INHERITANCE
CHROMOSOMES KARYOTYPE
DISCRETE MATED
DOMINANT MENDEL

GENE Solving a Genetic OVARY

Hysteny PROBABILITY
GENOTYPE %\ RECESSIVE
HETEROZYGOUS " TRAIT

Let’s see how you did. The solution above will let you see how many of the words
you found. Try some of the other puzzles at the Ask A Biologist website listed
below.
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